Wednesday 6th May 2020 
Lesson 3 EXTENSION: reasoning & problem solving

1. Alesha has been saving her pocket money which is shown below. 
She is given £5 for her good school report. 
How much does she have in total?
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2. Neha has been saving her pocket money shown below. 
She is given £15 towards her savings.
How much does she have in total
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3. [image: ]Which is the odd one out? Prove it.







4. Solve the word problem below. Show your working. Find three possibilities. 
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image4.png
- @ Year-2-Autumn-Block-3 X

&~ - O @w @ | file///C:/Users/Teacher/AppData/Local/Temp/Temp1_Year-2-Autumn-Block-3-Step-3-Count-Money-Notes-and-Coins.zip/Year-2-Autumn-Block-3-S 3¢

4 [ofsllEPe - 4+ 7 Fittopage () Pageview | A) Readaloud /. Add notes

Y SNSN~——

8a. Solve the word problem below. Show
your working.

coins.
and £17.

Two coins are the same.

What notes and coins might he
have?

Find three possibilities.

9a. Which is the odd one out? Prove it.

2 five- 2 one- 1 fifty-
pound L pound ., pence
notes coins coin

;ﬁ ~—— PS

8b. Solve the word problem below. Show
your working.

coins.
and £22.

Three coins are the same.

What notes and coins might he
have?

Find three possibilities.

9b. Which is the odd one out? Prove it.

1 1 ten- 3
twenty- 4+ pound 4 iwenly- =
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1a. Alesha has been saving her pocket 1b. Alfie has been saving his pocket
money which is shown below. money which is shown below.

She is given £5 for her good school report. | He is given £10 towards his savings.

How much does she have in total? How much does he have in total?

2a. Solve the word problem below. 2b. Solve the word problem below.

[ Tulsi has three coins. ] [ Kyvon has one hote and two ]
coins.
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7a. Amisha has been saving her pocket
money shown below.

She is then given £25 for her birthday.

How much does she have in total?

Count Money - Notes and Coins

7b. Neha has been saving her pocket
money shown below.

She is given £15 towards her savings.

How much does she have in total?
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éa. Which is the odd one out? Prove it. é6b. Which is the odd one out? Prove it.

A £5 + £1 + 10p + 10p + £1 + £2  + 10p =

B £2 + £2 + £2 B £2 + 50p + 50p + 10p

C €5 + £2 + 10p + 10p
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